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A dazdapkzydls! MilskzH j dzlstse f ted d34 dzv Is! Is j
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iz Is ¢ ftod d3gj dzv Is sfdats o dzr j stftoj HJ dzj dad W
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ftcOCIsdyj MSdr L OHOVY. 1 tod o ddsf)  tfa©dxs iCids
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1llvjstejlsduimSd] ot

1. rd2msedlsy dz@ dz@ §j ydmdzo
2. ARzdSydw s ISHdzJSQ fJjtej d3d dedzts?2 . dofs
3. 1dWvVodzs LOHOdzdz j, Wodzs L OHOdzdz | ,
4. sdkzOommdW S oOydw WEkdsS ydd.
5. yvydhdizser jJ ftshdzj Htso Olsj dz' desfisd, dn
6. ltojHjd YWEdSydd o Itsyt,.
7. ltojHjdz ls Mz , ttoOL dtsmisd d yofgls
8. 10 yOlsj dz dz@ § e Hj dz' .
9. 1 jMmMetsde] ydets dB3Odz" § d BtSdz h d W Iz dzC
10. uwtcOo dzj dzd | BJfr]ledzJudzts BOdzr = W Iz daS
11. 1 wsdgvIsdy dzj ftej ter o dats? Wz dzC ydgid.. v ts
1. 1 OdzO (. z dgSORdsq
0O) BdOMI! ®fftejHjdjddw WE ydd;
B) SfitwjHJddIls! yJjlsdsmis! d dzj yd sdesmis! .
) f(x) ) f(x) ) f(x)
1.1 | lg(5x+1) 1.2 | log,(2- X) 1.3 | Jx+5
Ig(9 X)
1.4 | -9 15 | x+1 1.6
4% - 1 J_ 4
17 3\IX- 1 18 y:lg(x+1)_ A4 - X2 19 \/X_' 16
1.10] Ig(x +1 1.11] J4. 2 1.12[ 3/x- o
1.13] 1 1.14] [z 42x- 3 1.15] Ig(x* +1)
4- x*
1.16] lg(x+1) 1.17] /2 - ox. 15 1.18] x+9
lg(4- X)
1.19| 42x+4 1.20 [log, . X 1.21| 4/x+8
1.22| lg(3x+2) 1.23|  Jax- x2 1.24 | lg(5x+1)

6



1.25] x 1.26| Jx+5 1.27) 2
x*-9 Ig(9- X) 9- x?

1.28 3 1.29 1 1.30 1
Ux+2 3- log,(x+3) Ix2-1
2 . Q) mdzsy dzlz © W kzdzC yds

L dzj 8§ dzls Otedz ¢

WlzdS ydd;

tcOL dztsy ( e

B) §ofMmdzj Hso Olsj dz! desfyls: { dzj d3d dels Otedz" ~
mdztsy dats 2 WizdzS ydd.
2.1 | O)y=lg(4x+5), 2.2 | Q) =3ox® +1, 2.3 |OQ)=25"
€y =cos3u gy=eg §y=JU
b)i u=v b)%u:ﬁ b){u:ctgv
b ov=3x* tv=sinx ’::V=X2/2
2.4 (D)}./:_arcsin:%X 2.5 O)y=lgtgg, 2.6 O)¥:eSi”XZ,
b) if:y—tcosu 6 yu iey:uls
ot by 7 fu=lgx
ju=sinx
2.7 | Q)y=3° 2.8 |OQ)y=arctg(7x- 2), |2.9 | O )y=Insin@x+1),
ey=3u b) éy=u’ &y = arcsinu
b){u:sinv :'u:cosx b)i u=3v
}v=eX b v=x-1
2.10| ©)y=sing’, 2.11]| O Jy =9, 212 | 0 )y=311c +2,
y = arctgu éy=3/u+3 gy =sinu
b) u=v b) { u =sin2v )] u=e
V=X+2 tov=e” tv=x+1
2.13| O )y =49 2.14| © )y=arccos/x+2, |2.15|0 y=Ig(7x- 4),
ey=%u éy=u’ &y = cosu
b){u:sinv b) {u=cosv b)1 u=+v
}u:sinv T v=5" }v=3x+1
2.16| O )y = (9x+5)*, 217\ @)y =33 +4, 2.18 | O y=7",
&y = arcctgu & y=e? &y=15u
b)iuz\/V_Jfl b)i U=V b){u:ct92v
tov=2x }v:sin5x }V:XZ
2.19| O )y = arcsin7*, 2.20 Q) =lgcig™, 221 | Oy=¢e"™
p) £ ¥~ .o yEy=u
j U= cos2x b) i y=u ju=lg4x
ju=sin3x
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2.22| Oy =€, 2.23| O )y =arctg(x+2), 2.24 | Oy =e*%,
. 10 .8 . 10
b1 77 b1 ¥ by 1 ¥~
U =sin5x ju=sin5x i u=ctg8x
2.25| O )y = ctge, 2.26| O )y =Incos+7), 227 | Q=314 +2
gy =arccodl gy =arcsinu &y =sinu
b){ U:\N b){u=3lv+3 b)% u=e’
bv=x*+2 bov=2x Py=x
2.28 O)y 14%9% 2.29 Ohrcsin\/;( 2.30 O)y:(7x+1)“,
ey:5u2 Ie y=u’ Téy=arctgu
b).u sin3v b) ju = cos3v b) 1 u=+v
1rv 2x+6 fv=T" P v=x+l
3. 1021Isd ftej HJ dzf
3
330 O)lm%x +x 0 b) lim ﬂ f) ) lim & -1
X? +7X X.% tgx
3.2 e x+1 x° - 4x
0] b) li
)xl-n);(SInX-'-Zth)’ ) 1 - Ax+3’ M Jim P Ctgx
3.3 | 1 _§ . 3 +7 x -2x-1
0] 2. = b) I :
))Engg( X+72 ) >|<ml o1 fr]) Cth
3.4 . 3 43 +5 . x?-1
(D)X|_m2(4x +2X+7)’ b)lx 0x*+3x’ ﬁ])l 12x%- x-1
3.5 : 3 X3 +4 . x2-4
©)m(7x +12x+1)  b) I Mg oo MM
3.6 . &, 3 X _0 2x-1 . 1-x
OmBceg s DmS Mme
3.1 O )im (cosx + 2ctgx) b) lim HC+5 fry )lim w
- P ’ e x 11x% +2x+1
4
38 1 0ym(me- x+14) by lim X2 f Jim XL
x- 4 ' X- 4X -16 - 1(X +X)
3.9 : x*- 3
O Jim{4x® +15x), b) li e
)lez( X X) )Xm}27x 1’ fn)x 1x%+4x- 5
3.10 & . 5 _§ *+12 x* - 3x- 2
O)ll'ml(?x +;+72 b)|XZx +X- 6 f'])l 1 x%- x-2
3.11 . x*+5 X% +3x+2
O )lim (4x° + 2x - 11), b) Iim =————= im ————
)X!mZ(X+ X ]) )x2x-5x+6 fn)x 1x®- x*-x-1
3.12 : x® +2x+5 x*- 4
O)Xl_mz(cosx+5), b)l o 431’ fr])xmz 8
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3
313 O)Ii_m(cosx+5), b) Ixml41(<25—xl+69 fr])xm2 - 2
3.14 44 X3 +5x+7 X2 +2X
o) 2 b) lim PN RN
)|mge< i X+X9 )X 2 2x% - 9x+10 fr])x 2 x*+8
3.15 . x® +16x+ 2 . X°-3x-4
OJmfgcrcos. D iMga e Mo
3.16 . 3 5- x- x° _2XP-x-1
Ohmec-2e7) DI e MM
3.17 . 3 5- 2x X2 2x% +x
S L Lo vIRLL U vy
3.18 [ 3 . X3 +5x O X“- X
© Jim (- 3x+8), b) ll-mSM’ M Jim, X2 + X
3.19 - 26 . xX*+5x-8 . X?-2x+1
° l!ml%(axs s b) fm, 2x° +15x- 8’ m Jim X2 -1
3.20 o X+ 7X? _ X*- 4x+3
0] )Xl_n%(smx+cosx+ 7), b)li 1m32x+—5x3 n )xlrn3 3
321 Q) Iim(4x3-12x+5), b) lim 4X+—5X+2 ) lim X~ 3X+2
x -2 x 33x +10x+3 -2 X+2
3.22 2
O)im (- 12x+7), b)lim S X fy)jm X T2 1
x -1 x 25x% +11X- 2 x5 X+5
3.23 4- x x°- 8
O )im (4x* - 2x- 7), b)lim —— =, im
Jim (4% - 2x- 7), )lezsxz_ 10 iy Jm N
3.24 5+x- X° X% - 2X
O)im (cosx+sinx+4), b)Ilm , im-——
)x 2( ) )X 53x% - 6x- 45 fr])><-2x2—3x+2
3.25 4x%- 5 X*- 9
O )im (4x3 - 2x+1), b) Iim l
)>I<m5( X x+1) )x 59%2 - Ex- 25’ fr])x 3X+3
3.26 . 5+x2- X . - 2X
O)im (coLx + 4), b) Im ———, im
)X_ B( ) )X--1x2-4x-5 fr])x--Z x> +8
2
3.27 _ 4x3- 5Bx X? - 5x
O)lim (2x° - 2x+1), b) Im ——,
)x- -5( ) ) x -1x% - 3x- 4 ﬁ]) - 53x-15
3.28 N N
OYm@x- 2x-1,  b)lim X2 g yim X—SX
X- 2 x 32x° - 5x- 3’ x -5%° +4x+5
3.29 2
O Jim (3¢ - 7x+1), b) lim 4"3 =) my
X- x -1 x3+1 x 1X°+x- 2
3.1 + ] 2 _
0 )im_ 2453 - §+1 ) im X7 2XE5 - pm X4
x -2 X x4 X% +x- 20 x -2x° +5x+6




41 O21sd ftejHjdr .

- lim £ (x) imdj md- lim £ (x) i mdj md
X- a a= a= X- a a= a=

4.1 . X*-5x+6 |2 1 42 | x*-x*+2x |0 1
im 5 I|m2—
x ax®-12x+20 xa X' tX

4.3 B+ x-X° 3 2 44 | 2x*-x-1 |1 -2
x-a X°- 27 xa3x® - X- 2

4.5 2% - Tx+4 |2 3 46 | 12+x-x* |3 -3
lim ————— lim —————
xa X°- 5x+6 x-a X -27

4.7 3% +2x-1 1/3 |4 4.8 o xX%-4x-5 |-1 3
lim ————— lim ————
xa 27x°-1 x ax® - 2X- 3

4.9 . 3P +2x-1 -1 |2 (410 3x*-11x+6|3 -2
lim ———— lim —
x-a- X“+X+2 x-a2x° - bx- 3

4.11 . X3- 8 2 -3 4.12 . X2 - X-2 -1 4
im im ————
xax2+X- 6 xa x+1

413 | x2-16 4 |3 |414| a+11x-3|3 |4
lim — lim —
x-ax®+x- 20 x-a X°+2x- 3

415 | 3x*-7x-6 |3 -2 |416 | 4x®+7x-2 |2 |5
lim — lim —————
x-a2x - 7X+3 x- a3x“ +8x+4

417 | Bx*+4x-1 -1 |2 418 | x*-4x-5 |-1 |2
lim — lim ————
x-a3X°+X- 2 x- a3X” +2X- 2

419 |  7x*+4x-3 |-1 |2 420 |  3x*-3x+2 |4 -3
lim ————— lim ——————
- a2x°+3x+1 x-a X - X-12

421 | 2x*-9x+10 |2 -3 |422 ) 4Ax*+x-5 |1 -5
lim — lim ———
x a x°> +3x-10 xax®- 2X+1

423 | -5x*+11x-2 |2 -2 |424 | x?-Bx-14 |7 -1
im 5 lim —
x-a 3x°- x-10 x-a2x“ - 9x- 35

425 | 3x*+2x-1 |5 -3 426 |  4x*+3x+15|/-3 |4
lim ———— lim —
x-a- X+ X+2 xa X - 6Xx- 27

4.27 X2 - 2% - 35 -5 4 4.28 2%% +15x - 8| -8 5

lim 5
x a2x® +11x+5

lim 5
x- a3x” +25x+8
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4.29 |' 3x?- 2x- 40 |4 -2 1430 " 2x* +5x-3 -3 |2
im —; im —
x-a X°-2Xx- 4 x-a3x“ +10x+3
5. 102Isd ftcjHjdr
51 IimM 52 lim m 5.3 [im M
' x5 3x% - X+6 T xe3x -2+ +6 £ Tx - x41
2_ - - -
54 lim X 29 55 fim-2X X *5 5.6 lim 22X "5
x o 2x° 43X+ X x = x3 - 3x- 5x x o x*- x°+2
3,2 4 _ 34 42
5.7 lim ZX X X 5.8 lim_X - X*3 5.9 lim X *X -2
x e - X°+2X° +3 x e 2x° +3x% - 2x* x = 3x° - 5x+4
5 2 _ 3
5.10 fim X F2x *3 5.11 fim 2 X - X 5.12 lim 2X *5%-3
x o 7= 2X" - 9X Xn1+3x+2x Xf12x+x 7
2,3 3.
5.13 fim X *X -3 5.14 lim X X9 5.15 lim ?”‘—>‘j5
x o X7 +3x°-1 x5 x%- x+5x° 2x*+3x° +6
2_ 4 _ _
5.16 fim X2 12 5.17 lim &312 5.18 lim ﬂ
x o 3x? - X+4x* Xn3x X° +4x Xnx-3x+16
3_ Ay
5.19 fim X *X*5_ 5.20 fim XXX - 8¢ 5.21 lim 2 X9
x 8 3X° - 2X"+7 o X7 - X+1 x o 2% +3X+2
5_ o4 3 5
5.22 im 23 *3 5.23 lim 272X *5X 5.24 fim 2 = X +5X
x o x*- 3- 5X o x* - BX° +2 X“9x X" +6
4_ _ 2_ 2
5.25 im X~ 2X*3 5,26 lim X2 3 - 2 5.27 lim X+ +3
x- o X%+ 3X° - 12X Xu7x-5x+1 Xﬂ?+5x-7x
2 3
5.28 lim 2% T3**6 5.29 lim m 5.30 lim M
x = X°- 4x+5 xux-x+5 Xn3x-x+6
6. 1 02Isd ftejHJ dz
6. 1)|im®_5i 6. 2 Im2 B 6. 3 lim SNAHFNx
x 05iN2X x -0 3X x- -0 2X
. ° 66—5X . o ~ DX
B ),m%_ _0 B )I|_m%- =0 B )||_m%+—o
xec X+ xec X+
. Sin3X X . arctgb 1- co
6. 4 Xl!mo—)(&z— 5 X"”_“O;)é)) 6. 6 x“mo%)
_A3x- 28 43- 2xg " a2x- 58"
B B Jimge——= B Jim& -~
Yima (20 "D+ 2x 2 * e ox+1s
2
6. 7 Iim_i@? sin ~tg2x 6. 9 lim iG))
x- -0sin2xtg4 6. 8 lim x- -0tg3X
an 1~-2x+5 x- -0 5X2
B )llmae— _ ax+33 g - 5X
(;3X 2— B )!(l_ l]&—)(-'_2(.) B ) ||m%+28
o - xec X+




tqQ23x

2

1-c
6.10 ImOY- 6. 1 1m 6.12m—@§5.
x -0 X§iN6X x- -0]- co X x -0 3xsin4Xx
AX+5§ 3
B Jim&——0 B )Im%- —o B )Im%- 32
xeoX+1+ P
. sin oS X ' z 6 1 5 1-¢
: m
6.1 31!”? 46;?27 6.1 ‘!!morar;% x -0 Xsin4x
n ° ~ 2X
22X - 46)3Xl a3x- 4" adx+39
)x °C X-l— )x °(;;3X- 9 x “gl+4X+
2
6. 1 Gm S 1 7im S"°&Y 6.18m_—8y©3\
x -0 X2 COS3X x -0 2xtgx x- 0 5]N 2XtgX
3 DX ~3 9 DX
B )Ilm%- —8 B )m%‘SX_ZO B )ﬁm%+i8
°cbX+ 1— e 3X+
1- ¢ sin5Sxiyx sin3x@rctg5x
6. 1 9 Q.égjf 6. 2 0 6. 21 Gm\
m 2x 0 3x 6x°
° ~ X2
B )||m%- 0 B ) Iimgg)x;zg B mges+—2X8
°C x5cbx+1+ xocl+2x +
6 2 gm @S 6 2 3m sin3x{a0s5x 6 2 4im@§L
x 0 sin®2 x- 0 4x ' x 0 arcSinxtg6x
45x- 35 a2x-1¢" s g
B B e —— i Q
w5 e o 24
2
sin%arcthX 6. 2 6m 6. 2 Wmﬂé%
6. 25 Im x 0 arctgsx x 0 xarcsinbx
x- 0 6X°
. a3x- 162X oy, ox X o - BX
B )im 0 B )lima 23 B )Jim%- -8
X (; X+57 X- ugx+l_ X- Dg X=
i 1- X ar
6. 2B 6. 215 6. 3bn
x 05in5X x- 0 2x x 04X
o o X
B )Jim a3x+5° B )im%+—o B Jim%- 9
x- (;3X+l— xoeg 2 xoc X+
7. 102Isd ftej HJ dzf
7.1 X2+ X- 12 7.2 | x+12- J4- x
im 5
x 3\/)( 2-.4- x x -4  X°+2Xx-8
73 | Jx+10- J4- x 7.4 | J2- x-Jx+6
im 5 lim 2
x -3 2x%- x-21 x 2 X -X-6
7.5 | J3+2x-J4+X 7.6 X2 - 3X+2
lim > lim
x1 3x%- 4x+1 x 24/5- x - 1+ X

12




7.7 i 3x% +4x+1 7.8 in 2x% - 9x+ 4

x -1Jx+3- +/5+3X x 4/5- x- /x- 3
7.9 | \ox+1- J/x+6 710 /3x+17- /2x+12

lim 5 lim 2

x5 2%x°- 7x-15 x- -5 X“+6x+15
7.11 |' [\2+2- 02 1120 NTHx- VT X

)!rno /XZ +1_ 1 x- 0 \/ﬁ
7.13] . 3X 7.14| 2x+1- 3

im lim

I . Calx-2- 2
7.15 i JE+X - 2 7.16 i VX +4-3

x-1/8- x-3 x54Xx-1-2
7.17] 3% +4x+1 718  \4x- 3-3

lim l

x -17/x+3- +/5+3x x3 x°-9
719 Bx+1-4 7200 o \/XT

im im

x 3x% +2x- 15 x- 0 3x2
7.21 . Z+d- 2 7.22 im 3x\/

<0 X2 +16- 4 < 0J5- x- Jo+x
7.23 i J2x+7-5 7.24 i 2- X

X 9 3)(\/— x- 4\ 6X+1-5
7.25]  x3. 27 7.26)  [1+3x%-1

lim lim

x 34/3x- X 0 XC4x
7.27| Jx+20- 4 7.28] 3x*-2

im 3 Im ———

x -4 xX>+64 x 148+ x-3
729 J9+x-3 730  J4Ax+1- 3

fim Y25 fim YRS

0 X°+X x-4 X -8

8. [ftjnjddls! fowwhHst xpOdopE kLS tfdzi vsd
BOdz" = 9 J dzd yd dz.
- 0) B ) 9 ) - Q) B ) 9 )
8.1 | 20x d V3x 82 | x?+x |1k 3/x
8.3 | 4oy 3x K1 8.4 | 41x 7xt J7x
8.5 X4+X 5x W 8.6 Q/ﬁ( 4x X23
8.7 | 17x X 2/x 88 | x3+x2 |32 Ux
8.9 | 8/5x 19x X6 8.10] 13x X8 Ux
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8.11[ 5 4+ 37 14x /32 8.12| 4/6x 2X x>
8.13| 21x 32 e 814 34t | 14x | %x
8.15| 8/gx 41X X712 8.16| 25x X6 J71x
817 x* +5° | V3x 814x | 8.18| 5ax | 17x 2
8.19| 22x x31 J17x 8.20| 9 +x 24x 3/4x
8.21| §/25x 14x xt7 8.22| 15x x31 J11x
8.23| 27 + x* | 42x 175 8.24| 5/3x 15x x4
8.25| 28x x47 J15x 8.26| 7 +x3 4x 37y
8.27| 3/ax 47x X2 8.28| 45x NE J29x
8.29| x6 + x4 | 55x 9/x 8.30| 7/18x 32x X7

9. Y iz 1 CodoeoOdzj dzlsdzO® Mz BBO xB JOM S tsdzd Y

9.30| tg3x + X2 + 24/ 9.2 | arcsinx+2x% - X2
9.3 | In(1+2x)- sinx? 9.4 | 3x° - 3/x+ 2tgx
9.5 | arctgx+ x® 9.6 | x- sin9x+x®

9.7 | 31- 6x - 1+2x 9.8 | 2arcsinx- x* +3/x
9.9 | In(L+5%)- x° 9.10| 3g2x- 6x

9.11] &% - 1+5x 9.12| x+arcsinx®

9.13| 2sin3x- 6x 9.14| 4x® +4/x+5sinx
9.15| 3/x +5sinx 9.16| arcsirex+3x* - x°
9.17| 4x* - /x +5sinx 9.18| 2x+ arctg4x

9.19] arctgx® + 2tgx 9.20| 3x* +5Btgx

9.21] 73 - 4/x +5tgx 9.22| tg5x+ x* + R/x
9.23| tg7x+ x% + F/x 9.24] x3 . Bx? +arcsirex
9.25| 2e¥/2. 2. x 9.26| \1+4x- 1- 2x
9.27| In(1+ 4x)- tg®x 9.28] 3x3 - ¢x +sinx
9.29| arctgy® + 2sinx 9.1 | 2®- Jx +3tgx

10. 102kd ftojHjdr dzj defshipfsidss L 2w j fry CCtsed]
8 d dzd ud de.

5 . .
101 i In !1+ 3X ) 10.2 im arcsirbx 10.3 im sin7x
x- 0 X° - 5x2 x 0 1g2X x- 0 tg2X
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10.4 e -1 10.5 | . arctg6x 10.6 |, arcsimx
im lim — lim
x- 0% + 27X x 02x° - 3X x-0  2X
10.7 | . sin5x 10.8 | . In(1+3x) 109 | e*-1
lim im ————* lim
x- 0arctg2x x- 0 sIN2X x- 0 tg3X
10.10| . sin(x- 9) 10.11] . cos3x- 1 10.12| . 1- cosbx
im ———~ lim ——— lim ———
x- 0x% - 5X+6 x- 0 2x° -0 4x®
10.13| . arctgx 10.14| . arcsiMx 10.15|  e&*-1
m-————— im — lim
x 0ln(1+ 2x)2x x 0 tg5x x 0 SiN2X
10.16| . tg(x+2) 10.17| . sin(x+2) 10.18] . arcsirkx
lim im ——~* im ——
x- -2 x%- 4 x -2 x3+8 x- 0 tg4x
10.19 3. 10.20| . coshx- 1 10.21 ( 3)
im X 64 im ‘ im In{L+ 4x
- 4tg(X- 4) x- 0 2X -0  2%°
10.22| . arctgbx 10.23 Sin3x 10.24| . arcsirBx
lim m-———— lim
x 0 tg2x x 0In(1+ 2x) x 0 tg4x
5X i -
10.25] ™1 10.26] . |n(;+ 4x) 1027 sw;(x 3)
x- 0 tg2X x- 0 SIiN2X x-3 X°- 27
10.28 tg(x +5) 10.29) . 1- cosBx 1030| . In(1+5x)
x- -5 x*- 25 -0 2x* x- 0 sin3x
11. [ dzw HOdzdzts?2 WEkdz2Cydd dz021Isd:
Q) Ibty¢d tlOLtr 9 0;
B) ftojHjdr Mo O dgOmMdzj o0 o Isys On
o) BftjHjddls! Idf Isyj ¢ ttOLtr 9 0.
R B)og(x) | ©)f (x) 8 )9(x)
111 | V(=3 7 11.2 3u(x2) 1
X+2 4- X
11.3 | gV0+D) 1 11.4 71/(x-4) 1
x-12 X+12
115 | 72/(x9) 4 11.6 | g3 5
4- X X- 22
11.7 | gulx 7 11.8 | gulx7) 7
2x+1 8- 2x
11.9 | g¥(x) 3 11.10 |1gY(x2) 3
5x- 25 9- 3x
11.11] 4uGx) 6 11.12 | gu(x4) 9
X-4 25- 5x
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11.13| 19Vx 4 11.14 | 7v(x3) 2
9- X 8- 4X
11.15| 3v(4x) 7 11.16 | gi(x2) 3
S5- X 4- 2X
11.17| gV(5-x) 10 11.18 | q1gVx 12
X+5 8- 8x
11.19| 1¥(7-%) 12 11.20 1745 %) 9
4X- 2 8+ 2x
11.21| 14v(6-) 3 11.22 | 1534 1
X+2 6- 2X
11.23| 15Y(&%) 10 11.24 | 1g¥(2+9) 7
X-3 8- 2X
11.25| 1 V(4+x) 1 11.26 | g57/(&x) 11
9- X X-15
11.27| 13V(+) 5 11.28 | g¥(4x) 1
3- X 2x+5
11.29| 4v(x-5) 3 1130 |q1%/(x3) 16
8- X X+15
12. 102Isd ftejHJdzr .
12.1 _ é2X+3C~)X 1 12.2 _ é2X+16X 12.3 . Ax+1 o'?’x
im a%—o Image——0 im 0
x- acOX+ 7+ x-oc xX-1=+ x ac2X- 1+
12.4 22X - 163“ 12.5 _ 35x+83" 126 |  ax+1 62X+1
im &——0 im &e——0 lim 0
x- scdx+1+ X- ugx-2— x - £3X- 1+
12.7 II é2X+184X 12.8 Ilm a X+1 0 12.9 Ilm é X+3 gX+2
- X-1=+ Ex- x--thx-4+
12.10 i é2X+1gX-1 12.11 i 35X - 38X+3 12.12 - 22X - 3g><
X--ﬂgaéx— 1+ x- ugx+4— X--tg;x+4+
12.13 . 3%-5 gzx 12.14 - 8 X+38 12.15 - 2 X - ngx
x- - @§x+4+ x- ng4x- 5— x- - rg§X+ +
12.16 I| 23X - 48><-1 12.17 I|m 12.18 | 22X - 3g><+1
- g X+3 = §x+l— - - g X+4
12.19]  3x+3 62X 12.20 a6X+50 12.21 é3x+764x
lim & 10 Im &e——0 Im &e——0
x - £3X- 1+ xscX- 10+ - X+4 =+
12.22 | 2 x-1 (")SX 12.23 25X - 70 12.24 23- 4X66X
imae——0 Im &——0 m &e——0
x- 8cd4X+5+ - ¢ X+6 + x-8c2- X+
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12.25 21- 2X§ 12.26  &3x+4§ " 12.27)  g3x- 103X
image——0 im ge——0 lim 66270
x8G3- X + - g X+5 - x- - L2X+5+

12.28 Ilm é 1- X 85X 12.29 Ilm é.3+X g2X 12.30 Ilm é, x+5 8,3X
X- n(;2_- 10x = X- r1'(;§X- 4+ x- - CAX- 2+

13. 1 021Isd ftej HJ dzf hm tdshi s 1 Coado

o 4 dzd yd da.

13.1 | 72% _ 5 13.2 | . e _

lim lim — :
x- 02X - arctg3x x- 0SIN3X - SIN5X

133 . eBx _ e—2x 134 . 73x _ 32x
lim : : lim 3
x- 02arcsink - sinx x- 0 tgxX+ X

135 | g% . 7% 13.6 | . o
I|m I —— Ilm '~ .

x- 0SiN3X- 2X x- 0 2tgX- sinX

13.7 | P g 13.8 | 3% - 7x
lim — _ lim :

x- 0SIN2X - SinX x- oarcsimx- 5x

139 | 3% _ gX 13.10| @2 . @ 5X
lim —— im —————

x- 0 arctgx+ X x- 02SiNX - tgx

1311 . e2X - e3x 1312 . 45X _ 9- 2X
im ———— m ———

x- 0 arctgx- X x- 0SINX - th3

13.13| 3. 2x 13.14 | o3 _ g2
im —— im ——

x- 0X- SIN9X x- 0SINX - tg2X

13.15| e _ g 13.16 | _ 52x _ 93X
im : im
x- 0 2arctgx- sinx x- 0sinX + sin x?

13.17|  ~ 12%- 5 13.18 | _ e . ¥
im ———— lim —

x- 0@arcsinx- X x- 0SIN3X - tg2X

13.19| /. g2 1320 | 9. 2%
Iim ———— lim
x- 0SINX- 2X x- oarctg2x- 7x

13.21] 3Px _ 97X 13.22| X. @

Im —— Im ———
x- 0@rcsirex- X x- 0 X +5sinx°

13.23| . g 13.24| 3.7
im — Im —————

x- 0arcsink + x° x- 0 2X- tgX

13.25|  gx. 97x 13.26 | e - g
lim lim — :

x- 0tg3X - X x- 08IN2X- SINX
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13.27 ) A 13.28| er - e
im ——— lim 5
x- 0tg2X - SInX x- 0 X +tgXx
13.29| = 10%- 7% 1330 | . 23x _ 32X
lim im ———
x- 02tgXx- arctgx x- 0 X+ arcsinx

14. RMMdzj Hs® Ols! WizdeC ydes dzO0 dzj f 6 to
éx+1 j cdzd x<-1 éx+3,  j fdzdx¢-1
f(x)=1x2-1 j ffdz - 1¢x<1 f(x)=1x2+1 j fdzd-1¢ x<1
14.1 Tox, jfdzd x21 14.2 1. x+4, jfdzd x21
| ! i y
ex,  § Mdzdx¢2 esinx, § mdzdx¢o
143 f(x)=1(x- 2°, § Mmzd2<6<3 144 f(x)=1x? +1 § fdzd 0<x<2
' t1- x, j fdzdx2 3 ' Ix+3 j fydzd x2 2
& x  § Mmdzd x¢-1 ex+1  j Mdzgco
1.2 ; } 1 ;
145 f(x)—%x c;.cdch 1<x¢2 |1, f(x) llcosx, J fydzd 0¢ x<p
Ex+3, j o 2 bx-2 § e p
14.7 é
& (x+2), jmadxe-2 }-xz, J Mdzgx¢0
f()=1(x+1,  j fdzd- 2<x¢0 48 f(x)=ltg2x, j Mzg<x¢?2
oL oo 8 8
12 andchx>%
83X, J Mdzdke O & 4x J Mdzck ¢ O
- : 1 :
14.9 f(x)—%x L j fpdzd 0<x¢1 14.10 f(x)—%&, J.fr]djﬁf<x<4
{0, J Maxcel i X- 2, J Mdxq 4
T'e's- X2, j fdzcke1 $x2+1 j fdzcke 0
= ' fix)=ix-2, J mdzdD<x<3
14.11 f(X) ’Il‘X’Z J.ff]dzdl<x<2 14.12 () ,:\ e an
[X*- 2 § fdzdx2 2 (L fdzdx
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ésin2x, j fndzef¢O 14.14
14.13 f(x):{x+1 j Mdzdo¢ x ¢ 3 gcosx, j fdzck¢-p
| 14, J mdzdx? 3 f(x)=1x-p* § Mzt p<x<p
lo, j mazdx2p
e éx?,  j fydzdx¢O
3 Mz @O 1416 f(x)=1sinx, § Mdzd0<x¢p
X P . 1 e
1415 (W=1105 Jhddexes (L4 mazdx>p
F,me¢>%
é é
11, j fdzdxeO Tsin2x, § Mdzck¢ O
1 | .
f()=lcosx § mazqo<x<? 1418 TW=1% JMhed<x<p
14.17 : 2 ip
P , 12, hdede p
TX’ cLfr]dzq’XZE
éx’-1 j fpdzcke 2 écosx, j fdzck<0
:‘I - i _! 2 _ H
1419 fW=IS X Jhdd2axep |, o0 (()=1x-12 J mddexcs
isinx, J fmdrep iVx+2, j fmdzox>4
€ .
& x+2,  j mdzdxe2 {XZ, J fdzck¢ 0
14.21 f(X)zi(X“Ll)z’ 4 Mdzd2<x¢O 14.22  f(x)= 1sin2x, Jfr]dzq’0<x¢p
' x2-1 j fjdzdx>0 !
i d g2
63X, J mMdzck el & 4x, J mMdzck ¢ O
_12 : 1 .
14.93 f(x)—}x ?,4fr]d2(1<x¢2 14.24 f(x)—%\/x+1,.4 fpdzd< x<3
3§ mazax>2 -1 § mzke 3
&Jx, j fdzax¢1 éx’- 1, j fdzdx¢ 0
i _1
1495 f(x)= %X J Mdzdl<x<3 14.26 f(X)—%K c%f']0|2402<X<4
ix*-2 g3 i4 4 Mmdzdk?z 4
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étgx, J madzgo écosx, J fmdzeg¢ O
_1 . 1 .

14.97 f(x)—llx+],. j fdzdoe x¢1 14.28 f(x)—1x+], c;.fr]dzc§1)<x<3
2 J mdx¢l tx2- 5 j fdzck? 3
€ . ex" -1 j fmdzg¢O
}X’ d fdzck ¢ 0 14.30 f(x)=‘:sinx, J MdAzdh<x¢p
| P - Ty -

14.29 f(x)= %cosxc;fr]dzdttxd: tx-p, J mdzck>p
i P
ILJmméz

2 t OmMqgicl®Odz yJj M& OW tcOB tsls © ) 2 .

dmud mdzj ded

Kjdzupkzydls:

WEZdz2Cydd tsls tsHdzats?

MiskzH j dzlstso

§4 ] B dedzs -
§ tod d3j dg" Iss fy diisje i

Wistcdslzdzr dH dgtc Oo  wgd fisdf ) deds'y dzf & , H d Wtkj'ts j dzy
ftod dzj dizgOler € d dzOn sy Hj dzdWw Cted L dfdats 2 Is sy
oL tcOMmils Oded W d B o Oded W WkdS ydd, 0] t
o' fzCdzsMmisd d oetcedzzlstsfmisd HdzWw dMMmdzj Hise Oc
WkdS ydd.
2.1 visjlsdujmédy oftmr
1 1 sdwIsdy ftesdLotsHdts?2, jj G jtsdijlsted
2. lwtsdLotsHdOVY MmMEzdkdkr , fttsdL o jHjddw
3. lwesdLotsHd | Mas)yds?2 d oL O0ddBstsBicO
41 tesdLotsHds J] BfMdesoadzr = 1 dzj d3jfdudstOdadsy tH

dz" .

5. [ ecOtedW¥WdiddyjmMetsj HIWWJjtej dzydtetso Odzq

6. lwsdLoeotHd j o' MmMhdr fotWwWHCBS.

7lesdLotsHdy §J Bls dzgjwvwoeodes d ff OtcOMBJ sted y,

8. ULtOodzj ded W QGMGBJ@ dzts?2 d dztste d30 dzd

9. rdwwjt]gugodteddj dzj dzadj ¢ ftedBs dzd:
l1tcOQoaddzs [ s dls Odzw .

10. ]| 5L tcOMis ©Odzd j d EBra dzd J WizdzC ydd.
dzOd d3j dz' " jj L dzOyj ded j 9 ydd ftetsd3d )k

11. JlrfEzCdsmis! ( SBGM sfMmis! cwOWds O

12. ¢MdBflssls’ cteOW SO Wz@guqq

13. 1 6dzdetsj dMmMmdzj Hse Odedj WkdzeCydd d

1.1 021 ftesdLotHdzE (
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11 1.2 13
0) 2 4
O)y=x -“i/>+—-— O)y:3x4+3</F-—-—
X y=2+3h - ad+ 2 X X
B )y = x® @osx L X" |8 )y=ctgxX®
0 = et B )y = X AgX 0= 4x3
arccox +1) o)y = ar;:tgx arcsinx
X
1.4 1.5 1.6

Oy =T7/x- 35 32 + 2
X X

(D)y=7x+£- W+§
x? X

Oy=5¢-Ix" +2. 2
X

X

3

B )y =sinx&° B )y = x° (tgx B )y = x® @osx
5x’ arcsinx 3x*
o )y= o)=—— 9 )y=
arcctgx 3X arccox
1.7 1.8 1.9
0) 0) 4, 3(0a 2 4
Oy=8x‘+3xt- - %
AT S v R D o S S )yX\/)TXXS
y =3X 7 +— +3VX =—+3X' - 4x +— .
XX X X B )y =X’ (&tgx
B )y = x° (@osx B )y = x’ (&tgx 7
o )y = ATCSInX o )y = ACCtx I —"
9x° 3x*
1.10 1.11 1.12
G))y=4\/7<—£5+2x2+Z O)y:2x+£2-5\/F+§ O )y = 9x? -:'i/>+—-—3
X X X X X X
B )y =cosx(X° B )y = x° (gx B )y =x® Binx
Ax7 arccos 6x*
o )y= o )y= o )y= .
arctgx 5x* arcsinx
1.13 1.14 1.15
O)y:4x5-£3+l+7\/7< (D)y:§+5\/?—x3+34 G))y:x4+'°§/F———§2
x> X X X X
B )y = 2x* GBinx B )y = 2x° (gx B )y = ctgx(X*
arccos< arctgx 5
o W= e 9 ° )y:arcsinx
1.16 1.17 1.18
Op=avx- L-6x?+2 [oy=6x+2-Ux +2 |oy=xt- Ut +1- L
X X X X X X
B )y =sinx&’ B )y = x° (itgx B )y =x° @osx
3x® 8x*
9 = . 9 =
)y arcctgx _ arcsinx )y arccox
oy 7x*
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1.19 1.20 1.21
O)y:3x7—£4+}+3& G))y:f'+5x3-4x+£7 O)y=8x°+3¥x- = ig
x* X X X X X
B )y = x° Ggx B )y=x' @osx B )y = ctgx(x®
arccox _ arctgx 7x3
9] ) = 9] ) = [5) =
Ox° 3x* W arcsinx
1.22 1.23 1.24
G))y:4\/;<-£8+2x3+Z Oy= 2x+—-f+— O)y=9x- 3\/>+_-_
X X X
B )y = ctgx(x° B )y=x* CDgx B )y =x° Binx
4x’ arcsinx 4
9 )y: ) - 9 )y: 6X
arccox 5x* arccox
1.25 1.26 1.27

O)y=2x- %4‘}"'9\/;(
X3 X
B )y = (x+2)° GBinx

O)y=§+5\/?- x9+£4
X X
B )y = (x- 1)° dgx

O)y=x*+3/x5 - 2. ig
X X

B )y = ctgx(x +1)°

arctgx arcct X 4
o )y= 3 o )y= J o )y=
6X arccos
1.28 1.29 1.30
_ 2 o 7 9 s 41
(D)y—\/;(+—6- X +— O)y=x + F+— Q)y=2x -—3+—+3\/7<
X X x> X
B )y =sinx&° B y=x" (Etgx B )y = x° (Binx
5x7 _arcsi{x- 1) arccox
5 Y= g )y = resix- o )y =
» arcctg(x + 2) 3x* Y=
2. 102d ftesdLotHdks WkdSydd.

2.1

o y=lp e

_ 2
YENSHO)

2. 2

y= (X - 4x)\V D4 5x- 2

B )y =2g3(x* +2)

2 . 3 y=(5+cof)y5¢ +x

B )y = (log,(1+X*) +3%)"

2. 4

y =+/x% +sin3x +&2) cosx’
B )y= (“-’2"+In4x)5

2.5 y=(2+sin3P/X’+2x° 2. 6 y=x+cosAx QB+tg
B )y = (log,(x +3x°) + 2°%)? B )y=(e*+In(ax+2)f

_ X+cos3 _ 2X+5
2. 7 _mg)) 2.8 y—mO)
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B) y=({Xx+Xx +In3x)°

B )y =[2%+In(1- 3x*)]°

2 g ng@%
X2 +2x+3

B )y=5‘In(e > +1)

3- 2X
2. 10 :\/=@
Y 5- 2x+x2)

B )y =cos2x- x’sin3x

X2 - 8x

3xX+4

_ 2. 12y= 0)
T RCGEES
B )y:(zsinZX +t92x)4 B )y:(zctg(X+1) + [X_ 2)4
2 2
2. 13y=X*tX*24 2. 14y=F*¥ @
Y Jx3-8 ) Y N3 +3x )
B Jy=(5""+ctg’)’ B )y =3 +¥sinx)*

4x- 1

2. 15y= )

B )y — (eCOSZx + X2)3

2
216 y:%@j
x*+3

B )y=(3""- cos/x)*

3
2. 17y:4é“xj42+)

B )y — (ecos4x _ X4)3

2x* - 3% -
2. 18y=2X"3%"§&
Y NOX+ X2 )

B )y = (In(cos2x + 3) +tg°x)*

2°+6
: =1
2. 109y n‘/ZX-GG)

B )y=({X +3@in°4x)*

3x- 2

2. 20y e

B )y =Y/1+¢e " @os 3x

3x+4 3x- 4
2.21 =\/=@ 2. 22y=—-—-—""_20
Y x*+8x- 5 ) y VX +x+3 )
B )y=(3"+2- x) B Jy=3Ine +x)
2. 23 y=x*/1+3¢0) 2 24= &Y
8 ) _ 5ctgx X* +5x+1
Y= i x B )y = ("% +ctgx)®

) 5:%&
x*+2x+5

B y: (3tg(x+1) IX2 _ 3)5

2
2.26 y=%'@?)
X% - 8x

B )y — (4sin3x +th)3

3
_ 2X*+5x 0)

2.27y=
Y VX +3x
B Jy= (2" +3/cosx)?

5x- 2

2. 28 :\/=@
Y x3+x2-3)

B Jy=(@" +xX)’

2
2.2 9y=JL_3X@_1,
X2 +3x+2

B )y =(4"%*- 3sinyx)?

VX3 +2x2 &

2. 30y=
Y= 4x+3)
B )y:(3sin2x_ X3)4

3. 102Isd ftesdL 9 sHdzlz®
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3.

1y=6@F* b) y=

(x- 3(x+2)

3. 2y=Q) b)ys=

(x+1°(x+4) aflx- 1)
3. 3y=x3) 3. dy={arptgX)
b) y= x/X—Jrl(er53)5 b) y= (x+3R (X7 2)°
(x+2) (x+1)
3. 5y=(ar@)) 3. 6y=[1-G
_ (x+2)"(x- 3)° (x- 1)*(x+2)°
b) y= b) y=
{ic+1¢ M
3. 7y=(to)" 3. 8y=(sinP)
b)y_«/x+4(x—3)2 - 7K 2)
- .+ 2) x- 7R/(x- 2)°
(x+2) B) =
3. 9 y=(sie)*" 3.1 O(YZ(X;?@‘) "
U ax- 9 p) y = L2
R <flx- 2
3. 1y=0+9) 3. 1 2y=(ctg3xiTy
Jx+1 (x- 2)°
b = =
R e Y DY = e (x- )
3. 13y=(nx0O) 3.1 4/:()(2 ®l x)°°sx
b) y= (x+2)°(x+3)° b y= (x- 1)(x+2)°
Ax+1 J(x- 4
3. 15y=(cosx"®) 3. 16 y=(gx"?0)
_Jx+a(x+3P __ (x-7)
b) y=""r R O\ Ny
3. 17y=(<¢+ngfy” 3. 19=(xoff"
_ {x- 2 x+ 33 (x +2)
Y e 2Pl o ) v= (x+(1)2 )
3.19 3.20
O)’=(X3+]_)X b) y:(x+2)(x-3)3 G)’I(l- \/;)arctgx b) y:(x+1)4(x+2)
Y(x+1)° Y(x- 47
3.21 3.22
Oy =erccos)” ) v Iois | 0y=oos) ) y= T
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3. 2 4y=1+x0)

7y - 7V (v
b) y= X 1(x9 3) b) y:(x 7) (x 2)
) Joc P
3. 2 5y=(nx)0) 3. 2 §=(arcEy)
b) =7 yy=
)"l g x+a) )
3.27 3.28
_ inx Ux+1(x- 3) (x+8)*(x- 1)
- 1' X2 = X = X =
oy=[- ™ by oo |Oy=(nx+2 b)Y T
3.29 3.30
o ey Tl 3
G — thZx b — O oy - in4x b - X X
V=0 by prgpiap | Oy=ten ™ by =T
4, Mt W jtoj dzgydtctso Ols! HOdzdzze W kdzC yde .
41 tg§+2x- y=0 4.2 3x+ y+arccosy =0
4.3 ctgx+ xy* - 2x=0 4.4 (eX 1Xey- 1)=0
4.5 In(y2+x)=e§ 4.6 X -y - 2xy=0
4.7 X* - y* +5sin(x+y) =0 4.8 Xy? - 3In(x+y) =5
4.9 X - vy +2%tgx=0 4,10 y+sin3x=tg(x+Y)
4.11 3x+ye- 2e=0 4.12 In(xz- y2)+tgy:O
4.13 XCO2y - tgx=0 4.14 x*+y*+In(2x+3y)=0
4.15 e +xiny-3y=0 4.16 Inx+ytgx=0
4.17 e*-e’-xy=0 4.18 3x+2y+sin(x- y)=0
4.19 x+Iny+.3x- 4y =0 420 X+Iny+e*-¢e&*=0
4.21 In(y +x?) = e* 4.22 xX+y*+5xy=0
4.23 3x? +2y? +3sin(x- 2y)=0 4.24 X +y*+In(xy)=0
4.25 X +2y*+e'sinx=0 4.26  x+sin2y =ctg(x+y)
4.27 3y+e-e”=0 4,28 In(x*+y?) +ctgy=0
4.29 xsin@2+y) +ctgx=0 430 x- y?+In(x- 2y)=0
5. MHidtw W jtoj dgydetseo Ols' HOdzdzlz® W kzdzC ydeo .
T P
51 iex—t +tg2t 52 Fx—t 2t
jy=3t+Int [y=2t+t"+2
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éx =sint By — [t3
5.3 N Ex=+t"-2
{y=t’Int 5.4 i _ t+3
RN
|
§X:t-_ éx = arctg2t
55 ! t+2 5.6 I 3
iy:t2+3 TS
7 t-5
5 7 gx=t>+Int 58 gx=2t- t*
' fy=t*+2t* ' fy:tgt2
59 éx=sin*(3+1) 5 10 gx=t2+Int
' :'y=0086-t) ' %y=3t+4t3
éx =t +cost Sy =12 - 2t
5.11 i F
{y=1+sint >12 fy:t2+3sint
513 £x=In’t 514 éx:In(2+t3)
. . i
%y:coszt |'y=0052t
515 Ex=t'+2t 516 £x =3 +sint
. fy:t2+lnt ' %y:Bt- cost
517 i'e'X:3C082t 513 £x = [2+13
i y=4sin3t ' %ychost
519 Ex =€ +t2 5 20 i'éx:sin(t2+l)
' %y:sin5t jy=tg2t
N pe=toz
5.21 T t+2 5.22 1 4
1, 1+3 METEE
[~ t*-5
5 23 gx=t%- Int 5 24 £x =2t +3?
%y=3tz- 2t° }y:arctgt2
5 25 gx =sin(2+1t°) 5 96 Ex =t +t
' +y=008@1-t2) ' fy:t- 4t®
527  SXTios 508  Pxrint
iy=sin2t ly=t- 2sint
509 XTIt 5.30 x=sin@2+1°)
fy:sinzt fy:cosQ+t3)
1 02Isd LdzOyjdedj oltsXs?2 ftotsdL o SH dzts
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i y=1f(x) X i y=f(x) X

6.1 y:sin(x3+p) % =3p 6.2 y = arctgx % =1

6.3 y:In(2+x2) % =0 6.4 y = e* cosx X =0

6.5 y =e€"sin2x X =0 6.6 y:e’xcosx X =0

6.7 | y=sin2x Xo=p 6.8 y=(2x+1° X =1

6.9 | y=Int+x) X =2 6.10 | y=legye X =0

2

6.11| y=arcsinx X =0 6.12 | y=(x- 4 X =2

6.13| y=xsinx _P 6.14 | y=x%Inx _1
X0 5 X0 3

6.15| y=xsin2x __P 6.16 Y = XCOS2X _pP
07y Y

6.17| y=x*Inx % =1 6.18 | y=x+arctgx % =1

6.19| y=cos’x x, =P 6.20 y:In(xz- 4) % =3

4
6.21| y=x?cosx Xo:ﬁ 6.22 | y=xarccosx 3
2 %=
6.23| y=(x+1)in(L+x) g =- L 6.24 | y=In®x %=1
2

6.25] y=2¢ % =1 6.26 | y=(4x- 3 %=1

6.27| y=xarcsinx X =2 6.28 | y=(7x- 4 %=1

6.29| y=xsin2x _pP 6.30 | y=sin’x _P
X0 2 X0 5

7. utMlsOsadls! EZtOodsy dzdj S OMOIsj dbo.dats?
i y=1f(x) X | y=f(x) X
7.1 _x2- 2x- 3 4 7.2 y=2x2+3x—1 -2
4

7.3 | y=x-x° -1 7.4 | y=x2+8/x- 32 4

7.5 y=x+\/; 1 7.6 y:W-ZO -8

7.7 | _1+x 4 |78 | y=g¥x- 70 16

1- Jx
7.9 y=2x"- 3x+1 1 7.10 a X% +3X+6 3
==
711 x*°+6 1 7.12 X3 +2 2
x4+l T 32
7.13 ] y=2x*+3 -1 7.14 y:&_ R/x 64
7.15 1 7.16 x8 +2 1
=2X+— 2
Y Y 3x* +1
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7.17 x5 +1 1 718  x649
Y= &t Y1 s
7.19 y=3¥x- 2/x) 1 |7.20 yo L
3x+2
721 _ X 2 | 1.22] x?-3x+3
_x2+1 - 3
7.23| - 2X 1 7.24 1+ 3x2
X2 +1 = 5
3+ X
7.25[ y=-2fi/x+3/x) 1 [7.26] y=14/x- 15¥x+2
1.27 ] y=34x- Jx 1 7.28 _3x- 23
3
729 2 2 730  ax- x?
y_1—0+3 T2

8 . 1 02 1Isd
ftosdzj yzIsC j .

Zodstsd "jj d

zOod i34 dz' " § J

T y=t® lab] |~ [y=1( la;b]
81 | _ :2L0x+10 (L4l 1821 _5 iz [1:4]
X+ 2X+2 X
8.3 | y=3o(x- 2)(s- x) | 1061 |84 2§X2+3) [3:3]
X2 - 2x+5
85 | y=2x- x [0;4] 8.6 y:1+3\/2(x_ )2(x- 2) [-1;5]
8.7 | y=x- 4/x+5 [1;9] |8.8 y= 10x [0;3]
1+ x°
89 | y=slax+17(5- x) [[33 810,00 +1_28_ 59 [2;4]
8.11 -1:2 8.12| , - ] -1:6
y=g-x 4 |2 8120y =3pifx-g) |16
(x+2)
8.13 _2(_ N 7) [1:4] |8.14 y= 4x [-4:2]
Y o+ 2 4+ X2
8.15| y=x- 4/x+2+8 |[-1;7] |8.16 y=3\/2(x— 2)2(5_ X) [1;5]
8.17 x2 8 [-4-1] |8.18] - 2x(2x+3) [-2;1]
y=- — +—-+8 =
2 X X% +4x+5
8.19 y=3 2X2(X— 6) [-2;4] |8.20 y:3</2(x_ 1)2(X- 4) [0;4]
8.21 = - 2X+x1—61 [-255] [8.22 y _3fp(x+1)2(x- 2) |[-2B]
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8.23| y=2/x-1- x+2 |[L5] 8.24 y=3{/2(x+2)2(1— x) [-3;4]
8.25 G 8 |[-2;1] |8.26 4 1
=-2 +2x+ =8x+—-15 —;2
YT TN Y X 5l
8.27| y=3/2(x+2)(x- 4) [-4;2] |8.28 V=52 +ax+ 16 [-1;2]
X+2
8.29 y:iz_ 8- 15 [_2;_1] 8.30 y=x2+l—6- 16 [-1;2]
X 2 X
9. RMMdzj Hs9 Olsy WEkdSydet d fohmistesdls!
_xX*+2 o x 'S
9.1y= ~ 9.2y-X2_3 9.3 Y=
9.4 y=_X _ X _x-3
Y= 95 vy > 9.6 5
9.7 y=x- 98 y=X*Tg 0.9 y=X X
2x+1 ' YT 3 ' YT a
2X 3x 2.4
9.10 y= 911 y= =X
y NP y P 9.12 vy N
2X 2 2
9.13 y= _X'+6 _X-3
Y=12 1 9.14 y . 9.15 y o
2 2
9.16 y= = 9.17 y=X-2x1 9.18 y=X*2x*3
X - x-3 X
_xXP+1 _x%- 2x+1 G
9.19 =2 9.20 y= 1 9.21 y=- 5
_ X+2 _ 2X _x*+3
9.22 y_xz_ 5 9.23 y= e 924 y= N
x? - X X 2X
- 9.26 y= 9.27 y=
9.25 y N Y=z 5 Y=
_x*+3 2 __ X _x*+3
0.28 V= 9.29 y 4 9.30 y= v
10. 102d ftejHjdz M fsishi & {tcOo ddzO
10.1 | 31-6x-1+2x |10.2 x 10.3 | . 6sin2x- 12X
lim 5 . 2e2-92. ¥ I|_m 3
x- 0 X Im ———— x- 0 X

X-

0

X

2

29



10.4 i M- 6x-1- 2x |10.5 i 3thx3— 6x 106 | In(1- 3;<)+3x
x- 0 X2 x- 0 X x- 0 X
10.7 | . e°.1+5x 10.8 | . arcsiMx- 4x |10.9 | . 2sin3x- 6x
im ——XM— lim 3 lim =—==————=
x- 0 NG x- 0 X x- 0 X
10.10 3 0 10.11 . - 10.12 J .
2In%+1x8- X lim x-1 lim Va+x-2
i ¢ 2 + x-1n X x- 0 X
im >
x- 0 X
10.13| . arctg(x+2) [10.14| (x- 3)° 10.15| . X+1
im ——=—<— im lim
w2 (x+2) x 3sin?(x - 3) x 1X- T +2
10.16|  gsi™_ 1 10.17 codox/2) |10.18| . X- 2
lim im ————~ im ————
x- 0 SiN2X - -1 X+1 x- 24/5-2x-1
10.19] . In(x+5) 10.20| . tgx- X 1021 . a1 x§
lim lim lim - —
x o 4x+3 x- 0X- SiNX x- 1ginx Inx+
10.22| . tgx- X 10.23| X 10.24| . InX
im ——— im — im —
x- 02SINX+ X x- o x° x = ¥/x
10.25| . chx-1 10.26 o1 x 10.27 | . In(sinmx)
lim —— lim ——
x 01- COSX x- octg(ox/ 2) x 0 In(sinx)
10.28| . tgx 10.29| lim (1- cosx)ctgx | 10.30 | . tgx- sinx
im —— x- 0 im =————
] %t95x x- 04X- sinX
12. 10fdmOls! W stadizzz] # tetsie L @ S Gzaikzdzts 2
121 | y=In(5x-1) 12.2 y:; 123 | y=2*
X
12.4 | y=COX 12.5 | y=sinx 126 | 1
y X+5
127 | y=g2 12.8 | y=In(x+3) 129 | y=.x
1210 | y=xe™ 12.11] y=In(x- 3) 12.12 | y=In(x+5)
12.13 y=e¥ 12.14) 1 12.15 y =5*
y_—
X-7
1216 | y=g 5 12.17| y=In(4+x) 1218 1
y X- 6
1219 | y=10° 12.20| y=7* 12.21| y=cos3x
12.22 | y=In(3x- 5) 12.23| y=/x+7 12.24 | y = e

30




12.25 X 12.26 - 1 12.27 4
Y X+5 Y 4- X y X+3
12.28 1+x 1229 1 12.30 | y=Inx
Jx Y 1rx
13. 1 02Isd ftojHjdzr .
13.1 arcsindx 13.2 . Incosx
O )im———,
MM 5 e ax O)m =
b) im x* b) lim (1- sin2x)"%”
13.3 2 13.4 52
oym = 1 e x-l
X 0COSX- 1 O Jim >
2 o4 ~xX x- 0 X
b) I|m %1%88 cosx- 2 !
o b) !! mo(c OSX)ctgzx
13.5 o) a0 _ 1 13.6 o
im - -
« bigx- X o )im In(1- x)+tg
. x- 1 ctgox
b) lim (In 2x)inx b) m ¥/x
X- O X- o
13.7 o )im cosx(n(x- a) 13.8 o)m 1
- X _Ad o
<0 Infe"- e co@ C[n(l X)
b) lim (1- x)™
1 b) !!mo(sm x)tgx
13.9 Y14 13.10 ax _
1- 4sin?92*8 o Jim e - cosax
G)imo - 56— x- 17 - cosbx
x - X . 1
b) ||m0 xSinX b) !!mo(ln (X+ e))x
13.11 m_ gm 13.12 .
3 O Jim X -a 3 O))I(lm x@n%
x-ax"- " "
2 apxa
b) lim (1+ sin? x)mg " b) lim (1- x)COSE%E
x- 0 x- 1
13.13 3tg4x - 12gx 13.14 oY ftgx -
X- OSSjn4X' 12sinx )lep 25|n X-1
b) lim x*1 1
m b) Iimo(1+ xz)x
x-
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- 13.16 =
0Q¢2= g 2=+
o );tnl%g 5 O o ))l(mlé%g >0
b) lim xsin&s 9  a1g%
% o CX+ b) Iima-o
x- 0g X+
X _ Sinx 13.18 . tg2x
o Jim 2 3a O))I(l_mp(tgx)
x- X 4
PX o X
o NS ax- 49
a_. pXQ 2 b) m &&——0
PNE9S e ' °9X+3+
In(cosax) 13.20 oyim _Jiox-
x 0In(coshx) )lep 2sin?x- 1
. 1
b) E_rno(ctgx)S b) lim (In x)"
2 5 13.22 i 240,01
@)im%é- 1 8 O)i[muxe
- ocX e*-1+ 6
i 1+2Inx
b) lim (1- e )l ) )I(Ima X
x- @ X
: In (1+ xex) 13.24 A mg
O Jim —f \ O )im sos -8
x 0In(x+\/1+ X X ¢ X=
1 . log, x
b) lim (x- Din(x-1) b) fmt- )
13.25 o) 31+ ox +1 13.26 | O )im In 2x@n(2x- 1)
124 X+ X 2
. .. a
b) lim (ctg2x)ﬂ b) Im x? @in_
13.27 (D)hm X 13 g 13.28 O))Ernoarcsir?(@gx
E i N b) Iimo(ctgx)s'nX
b) I|m (1- x m%g
13.29| @ )im (x e ) 13.30 |o )iml(x- 1)<t
al 5 o} 1
b)Imgg——- ———0 im xX
& 5 - x- 208 b) Im, X

3 t Ofqicoky yj NS OY ©OB ElE®d dzs3j.
WEdS ydd ks SHds?2 ] &) ddats?
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Kjdddkzydls: flskhjdistse foddjdvis: Isj

o ydmdzjsdedey H j dzj dzdzr &  dzj S tej H j dzj dzdz A
fdty BB dedets?2. 1 Okzuydls! feddyj dzvls!  tsHydse d
e M jddvd i@l L OHOY. {teqddpiddzjdded W daOtpts jC1
dqdzlsj cteOdzso € tjh jdzdy WdLduimMEédms L OHOY.

3.1 vitjlduimSd) ottt
1. 1itftjHn]djdds 2 q dzls j ¢ tcOdz.
ddzls j ctcOdzts o .
2. jlstsHT o9& yddydgjdadjviz dailzr °  d dzgls j ¢ e Odzts o
HicsBedd d sdzOdz! dz" = d dJtetcOydtsdzOdz' dz' = W Iz dz
3. RdzsjctdesoOdedj btedetsdtsdilstedyj MSd
4. [ftejHjdjdgdzr 2 2 Jzlsj ¢ teOdzf j 2eBadEuiPls o
5. ltddztsyJ ddJ JEAsty oHeOdzOdzdzts d tsB Mis o j dzd

1.1 02 s j d 0 dz.

1.1 : 6 1.9 B) fe* +e*f dx
4+ -
Qig T 16 x2c+)dx F{
12| 47 .2 18 B) " /3" dx
Qréﬁ\/—;+x4 9+ xt 8"
1.3 a 4 3 1 0 B) P B* “dx
%+—- Qdx
9 ctos’x  x° J49+x? 2
1.4 A3 7 1 0 B) fp* O *dx
+ -
9 cxdx xX° 9 ngjx
1.5 a 6 1 0 B) fip” @ 'dx
_ 5 ad
Q%& X' J1- x2 2 §
16 | 42 9 1 § B) i (3+2 " Jdx
fe—+—- X
9 cVx X 16+x2§]I
17 3 0 x(4 5-x
e ek
C X 16- x* *
18 | 45 3 4 o B) 7 (e + 4Jx
=+ - X
9 cVx X 4+x2§]I
1.9 A 5 3 0 B) P @“*dx
x4 > o
G)?e x* 9 ngx
1.10 A 3 8 @ B) (g & *dx
9 X+F+S+x29OIX i
1.11 3 0 “X(3%
O /X +5x + gtdx o) (e + 2
c 1+x° =
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1.12

B) 7 (e +3Jdx

1.13

B) f{3' X4 2X+1)2 dx

1.14

B) (P" (eX + 5)dx

1.15

B) (¥ X(eX + 4)dx

1.16

B) P (3' ) +1)dx

1.17

B)[§ "~ (3" + 7)dx

1.18

B) {f+ (3‘ X+ 5)dx

1.19

B) [P (e‘ 4+ 2)dx

1.20

B) ﬁx(’s‘ “+ 4)dx

1.21

B) P @ “dx

1.22

B) r?x (2><+1 + 3)dX

1.23

B) " (e' > 4 4)dx

1.24

B) R (32X +1)dx

1.25

B) [P (4' *+ 5)dx

1.26

B) fp* & “dx

1.27

B) (P (3‘ - 2)dx

1.28

B) i (4' “+ 3)dx

1.29

B) fft (e +3Jdx




~

130[ g A5 7 g o e+ Jox
CCOS’ X X +
2. 102d ddzZsjctOd B ssHBd L Odj d
2.1 | 9pin(2x- 5)dx | B) fxsinx*dx 2.16| 9 e dx B) fj* sinx’dx
2.2 | Offod8x- 1dx | B) fj? &~ dx 2171 5 fsx- 7)edx | B) 3xdx
o Thox |9
23 . dx B) /3" (Xdx 2.18| O ppin(4x+3)dx | 5y x2xdX
Mgy |7 g
2.4 ~  dx ~ Xdx 2.19 Qﬁ:os(Gx- 1)dx ~ Xxdx
an-s B) 4 B)nirz_9
2.5 | Ofe™dx B) ﬁ((xz - 6fdx | 2.20) 9 fax+3)dx | B) fjxcosx’dx
2.6 ~  OXx - X2dx 221 o~ O B) ;}5° (xdx
anosz2x B)“;(3+4 G)n\/s-x i
2.7 ~ dx B) = 3x2 +16dX 2.22 Q ﬁen'zdx ~X2dX
913 o E I’?(( ) B) s 5
2.8 | O fpoddx+5kix | B) i sinx’dx | 2.23| = dX B) fK(3x” - 4) dx
N Sin? 7x
2.9 | Opg(Ex+7)x | B)pfax+5)fdx | 2.24| o 80X oA 3;x2 N
6- X +1
2.10| 9 ff5x+4)°dx | B) f* cosx’dx | 2.25 OR 5dx B) f}° & dx
n 8+ 2X
2.11| .~ dx . x3dx 2.26| 9 pin(4x- 5)x | g) (x2 +6)9dx
n V7x- 3 L% +7 i
2.12| 9p{ox+5)°dx | B)fg(Bx- 4)dx | 2.27| O ppod7x- 2)dx | . .3x’dX
LT
2.13| 4~  dx 2 6° 2.28| 4~  OX ®sinx“dx
d B) fj’ 6° dx B) [} sinx
n Y9x-1 i on 5+ 3x
2.14] o oy g)iax | ®) Fiold- 6X)ax [229] o I | )yt +1) ax
sin’ 5x
2.15| 4~ dx B) f° cosx*dx | 2.30| 5~ _dX B)f{3x* +7)° 7 d
N 8x+5 Rl 2x-5 F{ )
3. 102kqd ddZsjcwOd djssHtd ddsjcdes
3.1 | f{4- 5x)sin3xdx 3.16| pprctgdxdx
3.2 | p{6x- 3)cos2xdx 3.17| f{2x+3)cos7xdx
3.3 | f1+5x)e™dx 3.18| {7+ x)sin3xdx
3.4 | /{7- 2x)cosaxdx 3.19 ﬁarctggdx
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3.5 | f{x- 7)e™dx 3.20| p{x+5)cos6xdx
3.6 | pf8x- 5)sin2xdx 3.21| pprctg(5x +3)dx
3.7 | f{7+2x)e™dx 3.22| A{3x- 2)In9xdx
3.8 | pprctg9xdx 3.23| fn(x- 2)dx
3.9 | xdx 3.24| A6+ 3x)sin7xdx
cos X
3.10| p{2x+1)In5xdx 3.25| p{2x+1)e¥dx
3.11] pprctg7xdx 3.26 f{x+6)sin§dx
2
3.12] A1- 3x)sin9xdx 3.27| p{x+2)cos5xdx
3.13| {8+ 6x)sin4xdx 3.28| e dx
3.14| pin(x+6)dx 3.29| f{2+5x)e*dx
335/ s ocos’ o 3.30| G5 dx
4. 102d ddzZsjctOd fsHjtey O d2
4.1 - xdx 4.16| . x+1 dx
n X2 +10x+21 1/)(2. X- 2
4.2 ~ bx-1 dx 417 . 4x+1 dx
V2x2 +x-1 e a2
4.3 ~ Xt4 dx 4.18| . 4x+1 dx
B +2x+1 6x% - x-1
4.4 | . 3x+1 dx 419 . 3x-1 dx
“\/x2-8x-9 e ox+24
4.5 ~ 3X-6 dx 420 . 3x+2 dx
e voxrs N2 - 7x+1
4.6 ~ 3x-1 dx 421 . 2x+1 dx
Mioxt +ax-1 "6 - 5x+1
4.7 ~ 2X+5 dx 422 . 4x+1 dx
e 10x+9 N 12x+35
4.8 B 6x+1 dx 423 . x+1 dx
VX2 - 10x+24 N> x-1
4.9 ~ 3X+2 dx 4.24| .. x+3 dx
X +x-1 e 7%+ 72
4.10 & SX+2 4.25) o 3x+4
VX +10x+21 Mo - a1
411 . 4x-5 " 426 . Xx-5 dx
e 1ax+48 M +3x+4
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4.12

~ 3X+5

4.27

- X+2

n x* - 13x+42dx X%+ 2% - 24dX
413 . 7x-1 dx 4.28| . 3x+2 dx
e 1o 24 My ex+1
414) L -1 429 o X1 4
VX2 +x- 2 VX - 14x+48
415 .  2xdx 430 ~ x-1 dx
x* - x-10 My ax+1
1 02Id ddzlsj cteOdz, ftsHjtey Oh d2
51 | . dx 5.16| . (x- 2)dx
L x+2)(x- 3)
5.2 | _ x*+1 dx 5.17| ~ (x+2)dx
X2 +3 x- 3)*(x+4)
5.3 | » dx 5.18| . dx
°-8 M- 2)°(x+3)
5.4 | _x%dx 5.19| L(x+1)dx
‘-1 ?(x+3
5.5 | X 520 . x-7
I‘x2+1ﬂx+1)dX x+5)(x-4)dX
5.6 | ~ 4x+1 5.21| . (x- 14)dx
Ne(x+3) x+2)°(x+3)
5.7 | ~ 2x-7 522 . (2x+1)
dx
x- 5)(x- 4) x+3)*(x+4)
58 | . (x+12)dx 5.23| . (2x- 1)dx
x- 3)*(x+4) {x+2)*(2x- 3)
59 | . (2x- 1)dx 5.24| (2x+11)dx
x- 2)°(x+3) x*(x+3)
5.10| . (3x- L)dx 5.25| . (x- Ldx
x+2)*(x- 3) x- 2)*(x+3)
5.11] ~(x+1)dx 5.26| . dx
e 3 M+ 2)
5.12| . 3x-7 dx 5.27| . dx
x+5)*(x- 4) I §(x+1)2
5.13| (5x+1)dx 5.28| »  3x+1
x?(x+3) Nx- 2)*(x+1)
5.14] . (2x- P)dx 529 . x*+7
x- 3)(x+4)° X +afx-1)
5.15| » (x+1)dx 5.30| . dx
x+2)(x- 3) X2 +3
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dzd o j to

sted & s

6. 102Isd dazsjcteOdz i § sdRsh i -
6.1 ~ dx 6.16 ~ dx
I I?+ 2sinx r"5+ 2sinXx + 3cosx
6.2 ~ dx 6.17 ~ dx
IE- 2sinX nS- 4sinX + 2c0SxX
6.3 | ~ dx 6.18 ~3SinX- Zcosxdx
|5+ 2C0SX n 1+ cosx
6.4 ~ dx 6.19 ~ dx
“I- 4cosx |I5+3cosx
6.5 | & dx 6.20 ~ 3sinx
- —dx
3- 2sinx + cosx +sinXx
6.6 ~ dx 6.21 ~ dx
I 5+55inx n?- 3sinX+ 2C0sx
6.7 ~ dx 6.22 ~ dx
I E 3C0SX I'£§+7cosx
6.8 ~ dx 6.23 ~ dx
r‘E3+sinx+3cosx r"5+sinx+2003x
6.9 ~ dx 6.24 ~ dx
IE- 9cosx r"4+ 2sinX- COSX
6.10| . dx 6.25 ~ dx
r'6+7sinx+cosx r"4+1sinx- 3Cc0osX
6.11| . dx 6.26 ~ dx
ﬁ4_ sSinX + 7C0oSX II4- sinXx
6.12| . dx 6.27 ~ dx
ns sinX + 4cosx ne.- 2sin X + cosx
6.13| ~ dx 6.28 ~ dx
rh- 3sinx + cosx nz- 9sin X + cosx
6.14, . dx 6.29 ~ dx
+7CoSX II4- 6Ccosx
6.15| . dx 6.30 ~ dx
- 7sinX nS- sinx + 3cosx
7. 102Isd ddzlsj ctcOdz, MmMtsH jtoy O d2
7.1 | ppos xdx 7.16 | ffos’ xsinxdx
7.2 | ffos’ xsinxdx .17 | in® xdx
7.3 | ffos’ x@inxdx 7.18 | ppin® x@os xdx
7.4 | fin® xcosxdx 7.19 | in® xcosxdx
7.5 | fFos’ xdx 7.20 fpos gdx
7.6 | pin® x@osxdx 7.21 Fﬁinﬁgdx
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7.7 | ppin® xdx 7.22 | in® xcos' xdx
7.8 | oS’ xsinxdx 7.23 | ffos’ xdx
7.9 ﬁsin5 X Ccosxdx 7.24 ﬁsin2 xcos® xdx
7.10| ppin* xcosxdx 7.25 | ppin® xdx
7.11} oS’ xsinxdx 7.26 fpin® xcos’ xdx
7.12| p%in® xcosxdx 1.27 | ffos’ xdx
7.13| pin® x@os’ xdx 7.28 | ffosx@in® xdx
7.14| pos’ xBinxdx 7.29 | ppin® x@osxdx
7.15 ﬁ;os4 Xsinxdx 7.30 ﬁ;in4 Xcosxdx
8. I T ydmdzd Is+  dkiflstg joHgjOg. dzdz" 2
8.1 i dx 8.16 %
OI E + X2 fFos2xdx
A
82 | 2 8.17 | °
AvaZ - x2dx fpos’ xdx
L 4
83 |1 8.18 | 4x2-
f-(xz +3x+l)dx ﬁxx—gl dx
0 1
4 |1 1 L
8 g~ dx 8.19 i}/ x + 2dx
-1 0
85 | . ux 820 | vt
Ol Lo ll I X
2
86 |2, ., . 821 | 2
=8 e an
' Ecos2 X s xS 2 o
87 |~ 8.22 | ®Jnxdx
rFin xdx
-p 1 X
8.8 | L eXdx 8.23 |~ dx
0 hre 0 cod =~
8.9 ‘L dx 8.24 i dx
0“>_<2-3x+2 1“5\/X+2
8.10| ¢ 825 |1
4 2 dx
o -2y
4

39
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8.11| 2  dx 8.26 | L dx
0 V5+4x- X? ol_g'(2x+1)3
8.12 ixdx 8.27 {"X+2dx
OE+X4 0| IX+1
8.13| % dx 828 |5
n—— 2 dx
0V9- X° n- » X
psin? 2
2 2
3 1
8141 e 1 aix)ox 829 | oy,
0 0.15
8.15| © dx 8.30 |t 3
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o o
9 . I 7 ydmdzd Is ¢ dzj MtsB Miso j dzdz" 2
91 Qi dx B)i' dx
0§+3 OI I\/4- X
9.2 ° dx B)i dx
Nixva N
9.3 G)D~ % B)i dx
p( 1EX' 3)2
9.4 g Todx
X~ @ dx B) N
Q(r)?( “x- 4)
9.5 ~  dx z
9 Ol L2+ ax+8 B) fjg2xdx
0
9.6 G)D" dx B)i dx
OI I5«/x+4 ll I\/Z- X
9.7 ° °, dx
- 5
G)pe X )Onsfr_ =
98 3, i dx
rg* xd B
e M~
9.9 Q‘L dx B)L dx
0E22+25 gVX+9
9.10 Q: dx B)?" dx
OlISEZ +16 2| {X' 2)3
9.11 °. dx 2, dx
0) B) >
MExev1 Nx- 1)
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912 Q:"]dix %cosxdx
o +1 :sinzx
9.13 °. dx °, dx
Mz N
9.14 Q}‘g'zxdx ﬁ,};ﬂ_x
1 _1\/x_+1
9.15 QHN dx B)i' dx
Pm s (x- 5)
9.16 °, dx - dx
1o +1 I
9.17 ° dx L dx
9.18 °,  dx ~dx
Mz oxa1s Nz
9.19 | _° dx o dx
s "N
9.20 Q“,.,dx B)'i dx
M N ocroy
9.21 G)D" dx 2
m B) fjgxdx
0
9.22 Qnﬁa‘”dx B)z., dx
0 Nax
9.23 . dx L(ZI{_— l)dX
M AR
9.24 ° dx )
Qr”m 4 cosxdx
° o sin? x
9.25 Qn”dx B)(’)” dx
1nF -4KX"'4)3
9.26 ° dx % dx
Q!]? B)-s X+3)2
9.27 °_dx p
Q!‘F B) |2’7ptgxdx
0
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Q‘L dx
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9.29 7 xdx
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@)me dx Of .
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4 tihjddj bdf o tdE oy dEsas 2 O iaQislk:

1.1 OdzO W kfdry= . 1 021I1d:
x? - 25
O) Bd&OMIs! ftejHjdjddw WkdSydd
B) BftejHjddls: yjlsdesimls! ddzd dzj yg Isdats
{ 4N ddedd:
O) 9 1lstsds 9" Oy jdedd o L dzOB dzOIsj dzj
H 15 dzy dzts x?B 255 0. { JhOw 1 sts ooeiaGx 3 5z isdsti s H

Mdzg Hizjls, Ylsts tB &ZzOMsD(f)sl ti5HCi(Se). dzd v W Iz dz$
B) HdW HOddEs?2 WkdSydd of §sddyjlshv
1 1 _f(x) fcistdE {50 WkdSydH
JoxP-25 ¥@-25
2 . Q) Mdzsy dzz v y=afcRifBEL AR O L dzts )  Is ¢
fsfdzj Hise Olsj dz desfls! ©hdese dz & L dzj d3j dzls Ot
B) fsfdjHso Ol dz dzgsfls! shdese dzr & 1 dzj
& y=tgu
l u=5v LOfdMOls! o odH] GHAE2 MdAsyd
tv=3x- 4
tdhidedi:
0) oo jHjdB fsdiykssyd 2 Otcbkdj dzls
(Bx+2)yJ wju=5x+2. s HO fsdzzydd ©OL dtsy j dad J
: . . ., €8 arC|ru
i Wl " d§ ) Bk QRE
, X+2
B ) f sSHdzd BZOW ! mMdedL 2 998 j tory { s MifstOw df d3y
WEdC yd¥  fslsd  fustiadleds @d oy . W bk dzf ydfds &
fsdzzydd dms sdkzy fydagspdetz s Wbk dzS yd ¥

3. 1®2Iscf ftcJ HJ dzf .
8 8. . 2x"+5x- 3 . BX +7X
O] im X° - COSK+ —— im : im —aﬁ—.
) gél 2- x9 x- 1 3‘x§—1j x- 0 4x° - 4
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t 4" d:dedd
0) HOdGROW W ad ydv o lslassrkS jo + yd fdzd &g L
9 1 Ists?2 Iyt j:
. é, 5_ 8 6: é. "5_ 8 6: _ —_r3
lerrg)géx CoSX+ =0 lerrz)géai) Cos0+ =0 (0- 1+4)=3

B) L daglfddijnsOsdd o HtcojH]jd dzz W IzdzeC

2x +5x-3 . 2AQ"+5Q-3 4
lim —

S O I R
9) L dz@uQidsfjmlsOa ddz o HtjHjdz dzlz W Iz dzC
X+ 7x_ . 6M+7d®_ 0 _

im 5 = lim > =0.
x04x2-4 x0 AM*-4 -4

2—
4. 10 udmedm F BTN p as sasy

13x°- Ix+4
tdhddedy:
fted HJdz! dzsy xe=DzOfyg Hidglg O d d3 9 Wkdet yde

o-
3

5x+3 . 20?-5A+3 0 . .
s dziz yl ch =lim = — =, LIsts daj sftcjH
! iy X - 7x+4 x130%-70+4 0 JByed
Colsstclkzy dz sBrtSHd®BE tOMGCter Is+ . r dzv 1 Istsg |

HtcsB @ " dzj jd3 tsBh 2 Bdetsy dlsj dz LO MStsBC
ftoJ HJ dzlz:

2x%- 5x+3 _ . (2x- 3)(x-1) _ . 2x- 3

im — =lim im

x 13x%- 7x+4 x 1(3x- 4)(x-1) x 13x- 4

5. 102kd ftjHjd :

3 5 2
ojim X DS, TABC T,y 25 PS5,
x- 8 4x” - OX+

=1.

x- 2 8X°+4x- 5 x- 8 3X“+5x+6
tdhgdedj: _ o _
Q) dzOder Mmh dj fisj § j dead ydmdzdlsj dzv d

M=n=3f 1 sz 1 Istsls ftjHjdz BEHIHE W dpPpjjdi
fdtej dsj dede’ = dzOdor Mh ds Misj f j dgj 2 :
. 5x*-7x+3_ 5
im == —=—=1;
-2 8x°+4x-5 8
B) MmisjtJde ud mdzd s § dzv B ts(E>1), j f thylsigi o bk
A +2x- T
|Im2——
x- a8 3X° +5x+6
o) Mijfjde L dzO®Rj dzOlsj dzw(2), dz' gt Isfrisistgilztf j
. 2X%- 7xX+5
im ==—=——=0.
x- 2 4X° - 6X+ 7
6. 102Isd ftejHjdr .
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5x
O Jim oX ; I|m %838 :
x- 0SIN8X X+
tdhddedy:

O) HOdzdzO" WhkdSydw daj 6 tekAQ dzj O el &t
f sk yOj &g dzj 1 tg;%%g. iz jS daclzts futl ! s fetec G oz czdzts f s

COLd &sd MY shEs OkE: L B nas ] dn EESKd w4

Jets MmMazinmlsed] &3, @ i3s @l s Pezdzd 0 Oded d |
o jdzduydds dqazd Isjstej s’ 1 CodeOdzj dzlsdz & B j M
12 LO®Bj yOlsjd dz 2 ftojHjd

5x . 1 1
lim =Ilim

5
x- 0SIN8X x- 0SIN8X/5X 8/5 8"
o

(fMdzd dMfsdz Lejd 1+ Sad
flstej dsdzj dek)§ dzlz dzs  sin(x)° a
_ Bx . 1 1 5
im — =lim — = =_:
x- 0SiIN8x x- 0sin8x/5x 8/5 8

B) KicdHOdzdzr 2 Htojlh j @ teGeasj dizj s toj H j dzj o
Bsy dzets e OME tor Isic S L PEIREEOISE d2 dase s o j H j dz

~X

Odzj dzls dzts iy ls - B J
X), s ts f s dzlz

)I(i_mnéﬁ+%8:e, d dzOh ftejHjdz BkHjls 09 dz
A N
Im% —o _I u;%+'_:’g3f§x ei‘r@%f‘?’@:ew:é_
7. 102 qugrnsq’/—%gﬁ.dz
t dhddedi: fted 4§ HMISOdets03C jo f to HYY oozl

f s dzlz vy q o dz;tsqte;H;?%&dzdmmer oiH® OMC & Is
(;+
udfddlsj & d L zOk) dzOlsj d O s vy j dads

| VX+6-3 . (\/x+6-3X\/x+6+3)_. X+6-9 _
im—— =lim ' +— =lim
w3 x-3 x93 (x-3\/x+6+3  *3(x- 36+rx+3)
lim X3« ofm-_—> =1
©3(x- 3)V6+x|+3 *3Jx+6+3 6
8. JftjH]ddls Mmisj § J dz BOdztsmiIs d B J fi
slsdzsh j ks 0
t 4N ddedy:
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5 4 _ 4
X 3X=Iimoxx 3‘=|imX13=-3, 0, bkteHO Misj{jd
X x-

X x- 0

2 dz€ (k) x> +2xd y(x)=x 5H  dzOC 59 OW ;
3 2 2
B )“mo6x X =Iim0M=|imo(6X2+X)=0, LHJ M Mmisjfj d

X X

z dzS dK)E6XC+x* tof- O BzHjls Btsdz hj fdétixj ded W

1

)i

2=

==

9 9 9
o) m V¥ o0z ks mse nlifd
N x9

==

b dzC HR)gY7x B dz' M j Milsj f § ded dsﬁwmgfnlsdi%-sls W d
9. Y j &3z 1 CodoaOdzj dzlsdz®@ MO B J ME
x- 0sin®x+7x°- x ?
tihjddj: §t Met2flseolk 1 SCodeo Odzj dzlsdz !
MzRBO BjMStsdyy ydzs RBOdzr 7 o jdzdyddz + Codoe
flsjfjdz ¥ &BOdshlsd sin®i~ xtzdf~ xz Vigedba O jlsks! | i
BjMCdzy ydes BOWROWe dovjjdsdfmyd dzOB j S sdzj ydzts d

ZOd Bj dz " §2 Mlsjfj dzchin®okeVels Ppisff J/x)1 51 s 5 Az
10. 102d ftjnid dhifsd Lkv 1Coade O

im arcsirg”
x 0ln(1+8x)’
tdnddedd: dmyf sdz' L v IS Gelakdigds 10308
ojdzduyddz d dn Mo tsardsicr-~@x, In(f#8xBx, d d3

1 s Istsdzlz:
arcsimx . 6x 6 3

11

Q) Ibty¢d tlOLtr 9 0;

B) LdOyjdedw ftojHjdzse fMdzj o0 d MftcOo C

9) Isdf ItsyJ ¢ wOLt" 90.

tdhjdedy: _ o _

Q) WEdS ydw dzd tSixesiH | df skz0Os tsedzlz Is dsusty s s
WizdeC ydd vweodxejidsmw sy o

3 3
B ¥(-9-0)= lim 59 =59=5" =0
3 3

f( 9+O): ||(m 5x+9=50:5u — g
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5OC ¢0¢ wsHdd dL fjHjdss 1t

9 )
dgdd3j jIs tcOLter o ww ttsH O.

Ists W&EJOW Iz dzC ydq w
5 tdhdddi bdftse tsc & 0B dsas e A td

1. 10’+)Isq qtgsqLatSHdzlzs d HAWWjtejdydod

O )y =5x° + - U3 +— B )y =X @osx; y:a;Cth. 9 )
X
[JthZCH-
Q) YlstsB r or yqdmdzd Is ftocsdL o sH dzlz 1 Ist

iy ls (k) 3 kil g CBCot

W stodl deas  Lfo 5 Hdzs?2  tsls
N

HAWWJ o] dzyd ek O (cu)i =c@i (B tsdzf)ls Odzls O) .
3

LOfdh jd& o s OR=te B+ 3 Y x4 +7&:, sz oL !

ftesdL 9o 5H dzlz ®

yi=6x° +3¢ 3)x* 2x4 +7¢ 1x —30x5-x—€f1 %o\/i_x—z
1t tsftejHjdzjdeds HWW jtej dzydOdzO o1 yd e
y=f(x) ftesdL o tsH d Ismw dyfF Bi(x)dks tc d3lisdz]s s d3izy HHj ddad W dz
HC{WWJtGJdZ'quOdZO HsMIsOlstsydzets § tsHMIsOs dIs!
WedSydd o Wsttdzdkz HdWW,jtj dydOdo:
& .5 9 3.1 74a,.
dy=280x x4 4Q‘\/_§ xz(:JdX’
B ) i s W tstc dzlz dzj dzO - ts) H j dzd W ftotsdL ¢

(UG =uy +uwvid fts IsOBddyj §tesdL odsfH dz' !
dzO7n s Hyd=(&35)|009(+ x®(cosx)l =5x*cosx- x°sinx. % ¥ j tej dzyd Oz

tc Qo gly(E(SX“ COSX - x5sinx)dx;
o) ftddzjdeww IsOBdzdykz ftesdLoeotsHd = (

f 5z v o o
. . 1 e
(arctgx)i4¢x® - (4x® ) arctgx _ L1 2 O - xarcigx _

s=s

y| = (4X5 )2 16X10
_1+x2 Sarctgx _ 4x- 5(1+ xz)arctgx
16x° 16x° (1+ xz) '
9 W s tc d3lz dzlz HdWW j toj

]l sHmis©oa do
_ 2
4x 5(16+, X )a;rptgx dx.
16x°(1+ x?)
2. 102Isd ftesdL o sH dzlz®
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Q)= tg(x +5x - 4) y=(es"‘x2-6)3.
t 4N ddedg:
O) ftoddj dzdcs ¥ StoBzdzk dZOR sy H j dzdW ftesd
4 M da%y ) f(u), lyits & ifw)Ei(x).
i U= rmx)
10z WEA yds sy dets o OL dztsy d Is dz0 f
| dzj o3 dzls Otsdz' o ‘eu g(ngr Cydd: 1 ed ) dafa dsy | dc
|
¥ s te Bk dzbz | t]’tsdzlzuc{d;s
yi:(th)iud2X3+5X- 4)X OEG ) cosz(ix-:-55x-4);
8) OC COC ©OL dz@mg{c{zqgijHOdzdztsﬂlSthzJHsa
g y=u’
dz' T dzj &3j dzls Otedz & W kzdzC ydig=e't € bl $HOFd
oy=x?

i

sOBdzdykz ftsdLotHA ~ d ddw®o d d@zzrydWEt j toj C
yi= ( )UCQeS'”V)ViC'éx) =3u’ @ @osv@x = 3( sin 6)2 @™ osx? 2.

3.Q2Id ftesdLotsHdzz M { dehW W) tofzyftdafy

da‘w
2 2% 43 45
oy=(+3* ; y:(X-(5));E-X-27)6'
tdMhddedg:
Q) tBJ yYyomisd or O}y jddWw fsdzsec Oted ¥ d3d

In'y = cos2x@n(x? +3).
vdfd! fwesHdwwjtjdydiekzjd s8d YOMmis(d
(iny) = (sin4x{n(cosx)) ;
%Q/' = (cos2x) In(x2+3)+(ln(x2+3)) @0s2x = - 2sin2x n(x® +3)+X;Oi23X
ltotsdL osHdzzy silshisjf G Qadslo ] d¥f WasC ydd d3s
W s te d3lz dzj :
UY) =V +u'dhu &

)cosZ )cost

y = cos2x(x? +3)°FF @x+ (x2 +3)°% tn(x? +3)t 2sin2x);
y = 2(x2 +3)°°SZX' (xcos2x- (X2 +3)dn(x2 +3)C§in2x).
B) fHtodd3j dzdd3z d3j IssH dzse OtcdW disd yJ Mm& sG ts
4Y(Bx+4)°
(x- 5)°(x+7)°

Iny=In In yzgln(3x+4)- 2In(x- 5)- 6In(x+7);
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